Algebra 2

© 2020 Kuta Software LLC. All rights

7.1/7.2 Book Example Options

Simplify each and state the excluded values.

x> —6x+5

1
) 6x2 — 30x

9r—54

3 - - -
) r* — 151 + 54

10a - 50
a’+5a-50

5)
Simplify each expression.

3n—12 n®+n-90
40 —6n—n> n*-6n-27

7)

x>+ 16x + 64 3x + 24
4+ 17x+72 x*+16x+64

n>-25  8n*-8n
6n> +30n 8n’—40n

11)

5n° _ 251 + 2512

13) 7 +
n-2n+1 40n + 40

Tx—-70  x*+16x+64
Tx-35  x+8

15)

0’ +70n  n’ =100
n>—Tn+10  n®=7Tn+10

17)

p+5 N p-3

19
) pP’-9 p -9

Name

reserved.

Date

6v° — 36v°
v:—15v+54

6x +42
x4+ 11x+28

9x — 45

6 - - 0
) —x*+9x-20

p+5  4pt+32p
4p* +20p Sp+40

4r—32 P —15r+ 56
2+ 13r—42 4r—32

10)

a>—8a+7 a-—>5
5 - 254> a*—a-42

12)

o’ n’+13n+42

14 +
) 45n + 81 45n + 81

b*-36 6b
48 —2b—b>  6b> +48b

16)

x+3 ;x2—7x—30
2x* +18x x> +6x—27

2n—3 Sn—4
20 +
) n>-25 n*-25
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Period



3p—1 ~1
21y —2 +—F
Sp—6p+1 Sp"—6p+1

6k +5 N Sk+2
S5k—-30 5k-30

23)

5 2x
+
x+2 x+5

25)

6n 4n

27) +
n-5 6n-4

4x x—2
+
x+3 2x-2

29)

3 4
31 -
)a2+7a+6 a’>+7a+6

2v—=6 4y +5
33) = -
v+ 9y + 18 v+ 9y + 18

35 r+3 B r+3

P —r—=6 P —r—6

37) b+1 B b+4
6 2b-3
39)1— >
3r  6r+18
4y 4

10n -6 2n

22)

24)

26)

28)

30)

32)

34)

36)

38)

40)

42)

n—2 2n+6
2 T
dn“+16n 4n” + 16n

x+6 x+3
2 + 2
30x°—18x  30x° — 18x

S5x x—2
_+—
3 15x+ 12

S5n 5n

2—+
3n° +6m 2

Sk—4  2k-4
K-k-12 K -k-12

n-—3 n—6

2 +n-10 20 +n—10

5x B x—3
3x+6 3x+6
@_ 5n—-3
2 3n+9

5 B 6x
3x-6 x—4
x+1 B 5x -6
x—5 4
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Answers to 7.1/7.2 Book Example Options

1
) 0,5 2)
6x
10
5 - {5,-10 6
)a+10 { } )
3
9 10
) x+9 )
13) 8 - 14)
(n—1)
17) Tn
n—10
21y —2=2 22)
Sp-—6p+1
2
25) Ox +25+2x 26)
(x+5)(x+2)
2 J—
28) 25x2 4+ 21x -2 20)
3(5x + 4)
3k
32) —— 33
) K —k-12 )
4
36) Ht3 37)
3x+6
_ _ 2
40) 41x —20 — 18x 41)
3(x—4)(x-2)
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61>
v—9
9
-x+4
r—=8
—r+6
9n*
(n+7)(n+6)
x-3
2x(x - 10)
3n+4

4n* + 16n
3x -9+ 10x> + 50x2

: 19,6

; 15, 4]

6x(x+5)
9x* —7x—6
2x=1)(x+3)
—2v—11
v+ 9y +18
2b* —7h-27
6(2b - 3)
n>—10n+6
n(5n—3)

6
3 ;19,6 4 ; =7, -4
) g5 196 ) g T4
3 1
7) — 8) —
) n+3 )5
n—1 a—1
11 12
) 6n )Saz(a+6)
15) x—10 16) -b-6
(x—S)(x+8)
2p+2 Tn—="17
19) N 20) -
p n 5
2 11k+7 24) 2x+9
5k —30 30x% — 18x
20n% - 22
27) On n
(n-5)3n-2)
30) 10 + 1572 + 30n 31 - 1
6(n+2) a*+7a+6
3 35) 0
34) ————
2n-+n-10
38) 9 +22n+3 39) r+8
3(n +3) 2r +3)
_ _ 2
1) 35x — 26 — 5x

4(x-5)
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